Remedial Worksheet

. The Sum of place value and face value of 3 in 3045 is
The successor of largest 3 digit number is

. The predecessor of 3090 is

The difference of 3000 and smallest 4 digit number is
. The largest 4 digit even number is

267 +980+122=__ +267+122

If 20 + 30 = 50, then 200 + 300 is

If 80 + 100=180 , then 180-80=

3267-1000=
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10.1202-10=___
11.2903 -100=
12.3675-1000=_____
12. 2290 +10=_
13.5567+100=_____

14. 3333+ 1000=_____
15,9999 + 1=

16.4567 - 1=
17.9099 -9099=___
18.3033-30=

19. 4444-1000=

20. 2022- 1000=



